T HI0E T E I E DX KR

47
A B IHEED XA Z e
4878 =& BIIITER D= 3,000
489H 28 |[RETHREHS 5,500
48138 =& FAEtX B EiHhiES 5,000
48168 FH TR FE 5,000
48168 =& |[BAEREXRBLEOBHRER 7,000
48198 =& KREIARSHEMBHLENDERRBE 6,000
48208 =& |[THEBEHBERERHS 5,000
48218 =& R ER)I R P &R S v+ BERT =X 5,000
4H248 =& (REIEXERERRETNSHERBR 5,000
48268 =8 FiRBEIEITBORR S 5,500
4828H =& BIMHEET IR 5,000
48298 S8 |BRWEXEBBEY) v BRES 6,000
&5 63,000
58
AH XHEED XA ZHEe5E
5828 = MEASESSBHRE 3,000
5858 = BEEISJE—EaIE 710 EiE S/ \—T1— 6,000
5H16H = HEXBRE 5,000
5817H = (RE]FEEABEEBRSBRE 3,000
58198 = M E—DJVNR—ILIBEBIRE 3,000
58228 = TMPTAESEXRE 4,000
5H823H = BTO/NASURERGESBIRE 5,000
526H| E&EM |BEmEREEFES 5,000
5H29H = BHEEEZE BHLDOR 6,000
58298 = (RE]BAIEXFAMHBEHESERXRES 5,000
=X 45,000
68
A H THES XHEA X%
6818 = BE-FONETIEZXIEITHIEEHRE 2,000
6828 = FHBFAXKEMREINES 10,000
6H8H = THERDEERXBE 4,000
68138 HpE |EBRFEMXRITLEBR 10,000
68158 = FAZREA = 5,000
68208 = BESAA X5 T 747 —LHlE 5,000
68218 = hRERHNREERRRE 3,000
6H21H RE |[mExES 5,000
68228 = R I REFERAS 5,000
6H26H = ERIE B EHISIRESEDBEREBIRS 3,000
6H29H = I b BT A SRR P R A BB 5,000
=1 57,000




18

A B THRS X HHEA &%
7H3H = MR ANHLNDEE IKYRESBRIRS 5,000
7H188 = BREIYMEEEEERELEDBHRE 5,000
78258 = (RE]HARBRE 3,000
P 13,000
8H
AH THES X HHEA X HEE
8H5H = BEBIRE R FH 5,000
881780 = ;B+-I:Vsz.'ﬂl,¢%:u’7 ILEBE 3,000
8H23H = [(RE]MESVIELaVI)—ILEER 5,000
8A24H| & [{E)£EBi-HIvrBHES 5,000
&3 18,000
9H
AH THES X HHE4A X HE%E
9H2H = B RS ERMENESLEMICEIT2ERKEEERIEDS 10,000
985H = X BRI 1,000
9H820H = [ﬁi@ll%%@;ﬁ% 5,000
9H22H = BHEBHMEESRMENES 10,000
9H27H = Faﬁfﬁuazzu%EEMHR = 7,000
&3 33,000
108
A H THERS X HHEA &%
1081H = BESERLEOBHRE 5,000
10H6H = EEAAYEREEERRE 5,000
10A8H = F{ABHRE 5,000
108108 = éEIGIAHSO)%L\m%,:&m = 5,000
108 14H = ik K/ 5,000
10818H = (KEE]hiR B Eﬂz%ﬂéi% 6,300
10821H = MXTESEEWMENESR 6,000
108258 = FAZRA= 4,000
10830H = EEXHAFZHAEERRAE 10,000
BEt 51,300
118
A H THERS X HHEA &%
1185H = (RE]FIERSBERXEE 7,500
11A8H FH [EFXEHEEEERE 5,000
11816H = JADS HDEBLEHR SR 3,000
1181780 = AR = 4,000
118188 = mﬁgmﬁng%—sm”w 4,000
11818H = HAR— 'J‘El?ﬁﬁ%ﬁm%%é 4,000
11824H = EHRXTASREK TR 5,000
118248 = ME I B e E0EERR 'tﬁ 10,000
11H29H = FARHRE 7,000
11830H = AR = 5,000
&t 54,500
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AH THERD THEA YHEEE
12818 = hRRERHK)—J A 5,000
12A4H = THAREZERLEDIBHRE 5,000
12H7H = TAEHEERESE 4,000
128138 = T EBERRENERR RS 5,000
12H16H8 = BEZERES 5,000
12819H = M{ASREIXS 5,000
12H20H = EHEETHEI N T IO —S LI BERNBE 5,000
12820H = M{AIREIXS 5,000
=K1 39,000

18
1858 FH BEREAEER 5,000
1A10A = A IsE B IaHERNS 5,000
1A11H = MEANISTEESHERLILES 5,000
1A118 = T EB ST E SR BRE 5,000
1A15H = M{AIREIXS 5,000
1A16H = M EREILS 5,000
1A17H = MAHERX RS 2,000
1A18H = AT ERFARKR RS 5,000
1H20H FH TR FHE 5,000
1A23H = TERESSHERILE 2,500
1H24H = [REBE]SERAKFESR 5,000
1A24H = REBEFTROSERXRHBS 7,000
1A25H = B T REFESBESHFERELE 5,000
18268 = F{AEBRE 3,000
1A27H = MR ES 5,000
18318 = B T REFTRRS 5,000
28

AH THE S XHHEA XH&EE
281H E-- mHmEB IS E RS 6,000
2818 & FCIXB Xy OA T /IN\—T4— 5,000
2A28 & BEHDRERFHEHED DODEWKIE] 6,000
284H & MR ER 5,000
28218 =& FEELARIDEEHESBES 5,000
28278 L& FREEESEE IS 4,500
=k 31,500




AH IHESS XHEA X &%
388H 28 | XEARSMBRESEEHRS 2,610
3898 =& TMPTAESSSRESBHRR 5,400

3A10H =E [ERRERERER 8,000

38148 2% |HPTAEALOBLEESFMOLEHS 5,000

38168 =& HAFER60R FiLSMNER 5,000

38208 SE MERBENEHESBRE 5,000

3H22H =8 |3— ORI ILKESEBAE 3,440

3H248 =& X BARREBIRE 5,000

3H27H S8 |BHERU—VERSBHRE 7,000

38308 =& BAIILIIBEZEAVIESHES 5,000

=1 51,450




